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QUESTION 1

Click the Exhibit Button. 

All CIFS users are unable to access file shares on the SVM alpha-fs1. 

Referring to the exhibit, users are unable to access shares because of which two reasons? (Choose two.) 

A. The Policy Config Owner should be vserver. 

B. The scan-mandatory parameter is on. 

C. No Vscan servers have been added to the scanner pool. 

D. No Vscan servers are connected. 

Correct Answer: AC 

 

QUESTION 2

Latest NS0-192 Dumps | NS0-192 VCE Dumps | NS0-192 Braindumps                                2 / 4

https://www.geekcert.com/ns0-192.html
https://www.geekcert.com/ns0-192.html
https://www.geekcert.com/ns0-192.html


https://www.geekcert.com/ns0-192.html
2024 Latest geekcert NS0-192 PDF and VCE dumps Download

Which three protocols does ONTAP support for ALUA? (Choose three.) 

A. CIFS 

B. FCoE 

C. iSCSI 

D. FC 

E. NFS 

Correct Answer: BCD 

 

QUESTION 3

A manager wants a volume to have a guaranteed 300 MB/s of read performance. You explain that you cannot do this on
FAS storage running ONTAP 9.3 backed by 10,000 RPM disks. 

What is the reason for this response? 

A. Throughput floors apply to only iSCSI access. 

B. Throughput floors can only guarantee up to 125 MB/s. 

C. Throughput floors require a license. 

D. Throughput floors require AFF. 

Correct Answer: D 

 

QUESTION 4

When you expand an aggregate, the spare partitions can be added as only a new RAID group, even though the current
RAID group size is large enough for the current and new partitions. 

In this scenario, which statement is correct? 

A. The partitions to be added share disks with the partitions in the existing RAID group. 

B. RAID group size is used only when dealing with non-partitioned disks. 

C. Only nonpartitioned disks can be added to a RAID group with existing partitions. 

D. The aggregate must be converted to RAID-TEC to expand RAID groups using partitions. 

Correct Answer: A 

 

QUESTION 5

You need to restore a large number of files from a Snapshot copy and grant users read/write access to the restored
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data using CIFS. For comparison reasons, you must ensure that the currently active data in the volume is preserved. 

Which restore method should you use to accomplish this task? 

A. Use FlexClone to clone the volume, and specify the Snapshot copy from which to clone. 

B. Use SnapRestore to restore the volume, and specify the Snapshot copy from which to restore. 

C. Use NDMP to restore the data from the Snapshot copy back to the volume. 

D. Grant users read/write access to the Snapshot copy in the snapshot folder of the CIFS share. 

Correct Answer: B 
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